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A366:0?+*: 64-7>WX>W E08?0+BWX>W6B *=+> ?+-2 4*D 6 /0.-,.@: ,*640: 6?+3?-=*<�

Y;0N.3,*: ,-+-N l, m * n ,*640 6?+3?-=*< *=+0/08 U
 O
 * Z 600?8-?6?8-..0� Y;0N.3,*:

,-+-N fijk, gijk * hijk 8@*=+@[* *=+0/08 U
 O * Z 600?8-?6?8-..0
 706?384B-:@- ?+0</0<

6?+3?-=*< (i, j, k), =7- i ∈ L = {1, ..., l}, j ∈ M = {1, ...,m} * k ∈ N = {1, ..., n}.
G>6?L *=+0/* 8@;*+3W? 680* 6?+3?-=** E064-7083?-4L.0 8 :0:-.?@ U
 O
���� G+-7E043�

=3-:
 ,?0 8 /3\7@< :0:-.? t *=+0/* U * O 7-<6?8>W? 8 /4366- 6:-[3..@2 6?+3?-=*<
 8

?0 8+-:B /3/ *=+0/ Z *6E04LN>-? ?04L/0 ,*6?@- 6?+3?-=** *N :.0\-6?83 N. ]:-[3..@-

6?+3?-=** −→p = (p1, ..., pl) *=+0/3 U * −→q = (q1, ..., qm) *=+0/3 O 0E+-7-4BW?6B 6?3.73+?.@:

0;+3N0: * 8@;*+3W?6B *N 6*:E4-/608 Sl−1 * Sm−1 600?8-?6?8-..0� G+* F*/6*+083..0:

606?0B.** *=+@ (−→pt ,
−→qt , kt) ∈ S = Sl−1 × Sm−1 × N 0\*73-:@< 8@*=+@[ *=+0/3 U 0E+-7-�

4B-?6B F0+:>40<

f(−→pt ,
−→qt , kt) =

l∑
i=1

m∑
j=1

pi,tqj,tfijkt . (1)
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(−−→pt+1,
−−→qt+1)∈Uα,β(−→p t,

−→q t)={(−→p ,−→q )∈Sl−1×Sm−1 : |pi,t−pi|�α,|qj,t−qj | � β, i ∈ L, j ∈ M}, (2)


�� α � β ( �
����
��
 ����� �
�
�����)��� ����� #�� *�
� 	�%
� 	������� kt+1 ∈ N

����	����� ���� 

#�� +�����
	���
� k∗
t+1 ∈ N �����
���� ������"�� �	� ������ 

, � � � � � � -���� ���� (−→p 1,−→q 1), �
���	���"�� �������� +���.�� f(−→p ,−→q , k∗
t+1)

�� ��
����	� Uα,β(−→p t,
−→q t) ��� ��� ���
	�� g(−→p ,−→q , k∗

t+1) � g(−→pt ,
−→qt , k

∗
t+1).

, � � � � � � -���� ���� (−→p 2,−→q 2), �
���	���"�� �������� +���.�� g(−→p ,−→q , k∗
t+1)

�� ��
����	� Uα,β(−→p t,
−→q t) ��� ��� ���
	�� f(−→p ,−→q , k∗

t+1) � f(−→pt ,
−→qt , k

∗
t+1).
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����)��� %���������� �
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A∗ =

(
f(
−→
p1,

−→
q1 , k∗

t+1) f(
−→
p1,

−→
q2 , k∗

t+1)

f(
−→
p2,

−→
q1 , k∗

t+1) f(
−→
p2,

−→
q2 , k∗

t+1)

)
, B∗ =

(
g(
−→
p1,

−→
q1 , k∗

t+1) g(
−→
p1,

−→
q2 , k∗

t+1)

g(
−→
p2,

−→
q1 , k∗

t+1) g(
−→
p2,

−→
q2 , k∗

t+1)

)
. (3)
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�� � ���) 	�%���) −→p i, � j �� ������
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�
�
�� � ���) 	�%���) −→q j , i = 1, 2; j = 1, 2. -������
 �
�����)$ ��
 %���������� �
��
(A∗, B∗) ����� �
 ������� ���� 
��
 �*��	��
� ��	�
	���� 	 �����0 ������
��0 /
��
��
�� �	� ������ #��	��$ �

�� �
�� ����� ������	���
� �*��	��
� ��	�
	���� (−→p N ,−→q N ) 1
�

�� 
�
 � 	�%������� 	 ������	� (−−→pt+1,

−−→qt+1). /�
�
� ������$ �

�� �
�� ����� �	� �*��	�
���0 ��	�
	���� (−→p N1,−→q N1) � (−→p N2,−→q N2); �

�� 	�%������� (−−→pt+1,

−−→qt+1) = 0, 5(−→p N1 +
+ −→p N2,−→q N1 + −→q N2). 2���� 
%���
�$ ���� (−−→pt+1,

−−→qt+1) 
���������1 
�� ��	���� 
� k∗
t+1.
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����� 	�%
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�� kt+1 ����)�

 �
�
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	��

h(−−→pt+1,
−−→qt+1, kt+1) − h(−→pt ,

−→qt , kt) � 0. (4)
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����9 X e &%�1���
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��' #�%	�%$' &	���� �	(&��	 m×n � �#$,%�0 ����	���0 ���1�+

%�� �� ?AN2 � 	
	&	��
$& �&%�1�%��&� ����9 L(X)e ������	%��
� /�%���0

f : X → C. ����9 M ⊂ X, My = M + y = {m + y |m ∈ M}, Y = {My | y ∈ X}. �#�(%	+
,�& δM '	�	��������,����� /�%���� &%�1���
	 M. ����
���& ����#�	(�
	%�� �	
�%	
RM : L(X) → L(Y ) /��&���0

(RMf)(y) =
∑

x∈My

f(x) =
∑
x∈X

δM (y − x). (1)
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